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e} fways share with oth o e
2. Complete the passage with the nearest meaning of the underlined words from those in the brackets
O * Y o] )

and fill in the gaps. (5marks)

3

) My elder sister looks forward 1o travelling to Europe. ( anticipate

0.

v

with pleasure, seek for, investigate)

b} Thatgirilooksso___ . 5 _she likes keeping lizards as pets.{ flamboyant,
antics, eccentric)
¢} People stand up 1© inhumanity against humankind.________ . __ { resist, fall

out with, help}
dl Now itisyour responsibility to build upon freadom’s foundation

{destroy, change, contribute)

3¢

he meeting finished in utler confusion

SECTION Cf READING CO

Read the puassage carefully and answer the ¢ yestions that foilow,
£

For any successful economy, particularly in today's quest for knowledge, economics, science, technotogy

i eering are the basic requisites. if nations do niot implement science and technology, then the
chances of getting themselves developed become minimal and thus could be even rated as undeveioped
nations. Science and Technology i associated in ali means with modernity and it is an essential tool for

rapid development.

Modernization in every aspect of life is the greatest example of the implementation of science and
technology in every nation. With the introduction of modern gadgets in every walk of life has become
simple and this is possible only because of implementing science and technology together. Without
having modern equipment in all sectors, be it in medicines, infrastructure, aviation, electricity,
information technology or any other field, the advancement and benefits that we have today would not
have been possible.

A nation that is not abie to prosper on these grounds would never be able to sustain the lives there

and may have to solely depend on other nations for the basic requirement. Such is the influence of
science and technology for the development of a nation. Villages are developed into towns and towns io

H
i

[g]
-

s and cities are expanding to greater horizons. This expansion has occurred through the expansion
of science and technology over the years and will be more in the coming years.

sped and developing countries. The major categorization is
economy and the application of science and technology. i carefully analysed, one gets to
understand that countries which have a strong base in science and technology are the ones that
ped faster. A few examples are of countries like Russia, Japan, Brazil, China, India and many more.
is estimated by the World Bank that seven of the ten largest economies of the world by 2020 would
e in Asia — China, Japan, India, Thailand, indonesia, South Korea, and Taiwan. A few decades ago, these
OU were known to have poor policies, low discipline and no advancement and then with the

ion of science and technology in an effective manner, they have made ripples across the globe.
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e global economic cutpsf hac increased seventeen
2{}““' centur\;: Yei, in spite of the auanuements in almost all sectors, the world is not free
ur disease, pollution, illiteracy and poverty. The gap between the rich and the poor has
widened. By the 21%% century, with right applications of research, development, and implications of
science and technology a major difference couid be brought about.
QUESTIONS

1-is there any link between science, technology and development? Justify your answer { 2 marks)

in glove...
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i every nation in
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5- v‘aff:;t is strange in spite of the advancement in science and technology in almost ali sectors?{ 2 marks)
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er horizons...” {line 26) what part of speech is “horizons” { 1 mark

80}
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N D {10 marks}

ay 80 words on any one of the Yo
ntotion of ideas, good ;
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an international organization. Now write a
glish then give him some advantages of that

investigated many of human exploitation in your country. Wme an arti de for jeune
Afrigue Magazine. Your name is Ntebe Emma. Name some of these exploitations and explain
how they are done. Propose concrete measures that individuals and Goevernment should take to
solve the problem.

3} Write about the ¢
the effects in the w

uses and conseguences of global warming and propose solutions to reduce
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